

**Resolver cada problema.****Respuestas**

1)  $(49 - 19) \div 6 =$  \_\_\_\_\_

1. \_\_\_\_\_

2)  $(13 - 10) \times 8 =$  \_\_\_\_\_

2. \_\_\_\_\_

3)  $(24 + 6) \div 6 =$  \_\_\_\_\_

3. \_\_\_\_\_

4)  $(5 \times 8) - 35 =$  \_\_\_\_\_

4. \_\_\_\_\_

5)  $(6 + 6) - 7 =$  \_\_\_\_\_

5. \_\_\_\_\_

6)  $(14 \div 2) + 18 =$  \_\_\_\_\_

6. \_\_\_\_\_

7)  $(12 - 1) + 4 =$  \_\_\_\_\_

7. \_\_\_\_\_

8)  $(4 \times 5) \times 2 =$  \_\_\_\_\_

8. \_\_\_\_\_

9)  $(2 \times 10) \div 2 =$  \_\_\_\_\_

9. \_\_\_\_\_

10)  $(4 + 7) \times 10 =$  \_\_\_\_\_

10. \_\_\_\_\_

11)  $(3 \times 3) + 11 =$  \_\_\_\_\_

11. \_\_\_\_\_

12)  $(16 \div 8) \times 3 =$  \_\_\_\_\_

12. \_\_\_\_\_

13)  $(7 + 3) + 8 =$  \_\_\_\_\_

13. \_\_\_\_\_

14)  $(48 \div 8) - 4 =$  \_\_\_\_\_

14. \_\_\_\_\_

15)  $(9 - 2) - 3 =$  \_\_\_\_\_

15. \_\_\_\_\_



Resolver cada problema.

1)  $(49 - 19) \div 6 = \underline{5} (30) \div 6$

2)  $(13 - 10) \times 8 = \underline{24} (3) \times 8$

3)  $(24 + 6) \div 6 = \underline{5} (30) \div 6$

4)  $(5 \times 8) - 35 = \underline{5} (40) - 35$

5)  $(6 + 6) - 7 = \underline{5} (12) - 7$

6)  $(14 \div 2) + 18 = \underline{25} (7) + 18$

7)  $(12 - 1) + 4 = \underline{15} (11) + 4$

8)  $(4 \times 5) \times 2 = \underline{40} (20) \times 2$

9)  $(2 \times 10) \div 2 = \underline{10} (20) \div 2$

10)  $(4 + 7) \times 10 = \underline{110} (11) \times 10$

11)  $(3 \times 3) + 11 = \underline{20} (9) + 11$

12)  $(16 \div 8) \times 3 = \underline{6} (2) \times 3$

13)  $(7 + 3) + 8 = \underline{18} (10) + 8$

14)  $(48 \div 8) - 4 = \underline{2} (6) - 4$

15)  $(9 - 2) - 3 = \underline{4} (7) - 3$

**Respuestas**1. 52. 243. 54. 55. 56. 257. 158. 409. 1010. 11011. 2012. 613. 1814. 215. 4



Resolver cada problema.

5

40

5

4

15

10

20

25

18

5

5

110

24

6

2

1)  $(49 - 19) \div 6 =$  \_\_\_\_\_

2)  $(13 - 10) \times 8 =$  \_\_\_\_\_

3)  $(24 + 6) \div 6 =$  \_\_\_\_\_

4)  $(5 \times 8) - 35 =$  \_\_\_\_\_

5)  $(6 + 6) - 7 =$  \_\_\_\_\_

6)  $(14 \div 2) + 18 =$  \_\_\_\_\_

7)  $(12 - 1) + 4 =$  \_\_\_\_\_

8)  $(4 \times 5) \times 2 =$  \_\_\_\_\_

9)  $(2 \times 10) \div 2 =$  \_\_\_\_\_

10)  $(4 + 7) \times 10 =$  \_\_\_\_\_

11)  $(3 \times 3) + 11 =$  \_\_\_\_\_

12)  $(16 \div 8) \times 3 =$  \_\_\_\_\_

13)  $(7 + 3) + 8 =$  \_\_\_\_\_

14)  $(48 \div 8) - 4 =$  \_\_\_\_\_

15)  $(9 - 2) - 3 =$  \_\_\_\_\_

**Respuestas**

1. \_\_\_\_\_

2. \_\_\_\_\_

3. \_\_\_\_\_

4. \_\_\_\_\_

5. \_\_\_\_\_

6. \_\_\_\_\_

7. \_\_\_\_\_

8. \_\_\_\_\_

9. \_\_\_\_\_

10. \_\_\_\_\_

11. \_\_\_\_\_

12. \_\_\_\_\_

13. \_\_\_\_\_

14. \_\_\_\_\_

15. \_\_\_\_\_